» Activité n°1

4 1 5 1
a) =1 b)%irréduetible c) ;—225
7 x 10 7 1-12 —11 9%x6 54
Ayt 2= L e) - fy 222 222
2x25 5 2412 14 9-2 7
2x5—38 1 -0,5x9 3
e
x8—2 19 15 10
» Activité n°2
gy 1yl 13,15 8
5 3 53 375 15
4 1 4 2 1 7
b _—_— = = — _—_ — = —
) 376735276 6
G5l 5, b1 a s
a b a b b a  ab
6 1 6 =z 1 —6z +1
d) —(—+ == x4 = =
) r  x2 xxx+aj2
2 1 2 1 3 —1
e) — ——=-———X_-=—
3r = 3r = 3 3z
prydor, w5 5 o
5 x 5 x x5
» Activité n°3
1 2 1 5 2 6 17
a) -+ -==X_-+-X=-=—
6 5 6 5 5 6 30
1 5 1 4 5 -1
3-8 3%175" %
7T 3 7T 2 3 3
) ——-=-—X—-——=-X—-=—
12 8 12 2 8 3 24
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» Activité n°4

1 1 322+1
a)3x+f:3mx§+—: v
x x

xr X
2 2 1 1-—
b) 1= _ Xx+ _ T
rz+1 r+1 r+1 r+1
3 2 3 Tx2 —3
V- =G~ m~n
5 3 5 =« 3 bxr — 3
R b= B
2 1 2 1 rz—1 3z —1
e) - = -+ =

» Activité n°5

a) (+3) =@ +2x@)xB)+B)°=a22+6z+9

b) (42 =3)+2x (1) x (@) + @)? =1 +2+22

¢) (22 45)? = (22)% + 2 x (22) x (5) + (5)% = 422 + 20z + 25

d) (32 +v2)° = (32)> + 2 x (3z) x (V2) + (V2)° = 922 + 6V2x + 2

e) (V3+3v2)° = (v3) +2x (v3) x (3v2) + (3v2)” = 3+6V6+18 = 21+61/6

) (@+i)’ =@ +2x@x D)+ ) =a2+2+%

> Activité n°6

a) (z—5)%=(2)>—2x (2) x (5) + (5)> = 22 — 10z + 25

b) (T—2)*=(7)> =2 % (7) x (z) + (z)* = 49 — 14z + 2>

¢) (dz—1)% = (42)* —2x (4z) x (1) + (1) = 1622 — 8z + 1

Q) (Vi-2)" = (V1) =2x (VT) x (2) + ()" =T = 2Tz + 2

) (vVB—6v2)" = (V5)* = 2 x (VB) x (6v2) + (6v2)* = 5 — 12/10+ 72 =
77— 1210
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» Activité n°7

a) 22 -3%2=(z — 3)(z + 3)

b) 22 —16 =22 — (4)° = (x — 4) (z + 4)

) 49—a22= (1) —22= (7 — ) (7 + )

d) 422 —25 = (22)° — (5)* = (2¢ — 5) (2z + 5)
¢) 36 — 922 = (6)> — (3z)° = (6 — 3z) (6 + 3)
» Activité n°8

a) 22+ 6z +9 = (z + 3)°

b) 22 — 4z +4= (z — 2)°

¢) 22+ 14z +49 = (z + 7)°
d) 422 — 20z + 25 = (22 — 5)°
» Activité n°9

a) 10% x 10* = 107

b) 107° x 102 x 107 = 10*

) 1072 x 10~ = 108

1
_— = 1 =5
d) 10 0
1 4
e) =1 = 10
10°
f) — =106
) 103
102 1
g2) 109 = 10
—4 10° —4 8 4
h) 107 x 10-2 =10"*x10° =10
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D) (1074)* = 10-#
i (103)* =102
k) (102 x 10-7)° = (10-5)° = 1017

-5

) 38 x - =35x31=3

w (Z) oo

» Activité n°10
a) 10000 = 10*

W w

b) 400000 = 4 x 10°

c¢) 0,001 =103

)
)
d) —0,0003 = —3 x 104
e) 4897,5 = 4,8975 x 103
)

£) 0,0000612 = 6,12 x 10~°

» Activité n°11

a) 5,234 km correspond & 5234 m

b) 125,67 g correspond a 0,12567 kg

¢) 0,34 m? correspond & 3400 cm?
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» Activité n°12

vitesse distance temps
60 km-h~* 300 km 5h
90km -h~! 225 km 2h 30 min
8m-s~! 2,4 km 5 min

» Activité n°13

a) (v10)" =10 b) (~v10)” = 10

¢) — (V10)” = 10 d) (2v/10)” = 40

e) V12 =4 x3=2/3 f) V18 = /I x 2 =32

g) V28 = VA X T=27 h) V45 = /9 x5 =35

L L V2 Ve g2 _ 2 V3 2
V2 V2T V22 V3 V3T V33

.)\/ﬁ_ 7><5_\ﬁ><\/5_£

Va0 = Vaxs Vixvs 2
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